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Ch 13: Ranga’s Marriage 

 

A. Given below are four options against each question. Choose the option 

which you consider the most appropriate as your answer. 

Q1. The story “Ranga’s Marriage” is set in a village of _________. 
A. Madurai 
B. Banglore 
C. Mysore 
D. Bhubaneswar 
 
Q2. How does the narrator speak of his village? 
A. Passively 
B. Vividly 
C. Inadequately 
D. Both (A) and (C) 
 
Q3. What does the narrator mention as a ‘priceless commodity’? 
A. To his native language 
B. To mangoes of his village 
C. To flowers of his village 
D. To English language 
 
Q4. Why was Ranga’s homecoming a big event? 
A. Because he brought gifts for everyone 
B. Because he was new in the village 
C. Because he returned from Bangalore after studying there for six months 
D. All of the above 
 
Q5. After knowing that Ranga was the same, the crowd was __________. 
A. disappointed 
B. happy 
C. angry 
D. irritated 
 
    B. Answer the following questions in about 30 – 40 words. 

Q6. Why were the people of the village curious to see Ranga? 
 
Q7. What about Ranga impressed the narrator in the first meeting? 
 
Q8. What kind of a bride was Ranga looking for? Why? 



 
Q9  How did the narrator arrange a meeting between Ratna and Ranga? 
 
Q10. What was Ranga’s reaction? How did Ratna react to him? 
 
Q11. Explain: “There’s greater truth in that shastra than we imagine.” 
 
   C. Answer the following questions in about 120 words. 

Q12. Discuss the reaction of the people towards Ranga. 

Q13. Describe the narrator’s ploy to get Ranga married. 

Q14. Why was Ranga’s homecoming a great event? What was the reaction of the 

people when they saw him? 

Q15. Why and how did the narrator bring Ranga and Ratna together? 

 

 

  

  

  

 

 

 

 


